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3xt — x2 - 25 A4E3| stoizet.

O (3x2-2)(x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x2+2)(x+1)(x+1) @ (3x2+3) (x+1)(x-1)
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4.

(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




5. T Ax-1)(x-2)(x=3)(x—4) - 3= 5EoHstA?

D (x* -
@ (x%-
® (x* -

x+7)(x? —5x+3) @ (x?=5x+T7)(x* —x+3)
5x + 6)(x? = 5x + 3) @(x2—5x+7)(x2—5x+3)

2x + 7)(x% - 5x + 3)
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(x-1D(x-2)(x-3)(x—-4) -3

D(x-HH(x-2)(x-3)} -3
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5x)2 +10(x? — 5x) +24 -3
5x)% 4+ 10(x2 — 5x) + 21
5x+7)(x* - 5x +3)
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® (2?4 xy + 3y?)(x? — xy + 3y?)
@) (2 + 209 + 3%)(® - 2y + 3?)
® (% + 2xy + 2y%) (2% = 2xy + 2)?)

(F4) = x* + 6x%y? + 9y* — 4x%y?
= (#* +3y%)% - (2xy)?
= (x% + 2xy + 3y*)(x* - 2xy + 3y?)
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O (x+y+1)Bx+y-13) @ (x-y+1)(3x-y-3)
® Griy+Da-y-3) @ @+y+1)Ex-y-3)
® (x-y-1)(3x-y-3)

3x% +2xy—y? —4y-3
=B8x-—(+3)}(x+y+1)
=(x+y+1)(Bx-y-3)




9.  a(b®-c?) +b(c? -a?) + c(a® - b?) & A5-EolotH?

@ ~(a-b)(b-c)(c-a) @ (a-b)(b-c)(a-c)

® —(b-a)b-c)(c—a) @ (a-b)b-c)(c-a)
® (a=b)(b-c)(c+a)
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(£4) = (c = b)a® + (b - c?)a + bc(c - b)
= (c - b){a® - (c + b)a + bc)
= (c=b)(a=b)(a-c)
= (a=b)(b=c)(c-a)
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a+b+c=00°%H a4+ b3+ ¢ = 3abcO|Tt.
a(b+c b(a+c cla+b
(bc ) (ac ), (ab)
a? (—a) + b% (=b) + 2 (-c)

abc
—(a3+b3+c3)
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~ —3abc

@) =
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a c¢ b a b
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b b
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-a—-b+c oA

a-b-c
(a=b+c)la=b-c)=(a+b+c)(-a-b+c)
(a=b+c)la=b-c)+(a+b+c)la+b-c)=0

a-b+c
a+b+c

{(a=b) +cH(a-b)—cl+{(a+b)+cHa+b)—c}=0

(a=b)?-ct+(a+b)?-c2=0
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1999 x 2000 + 1
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1999x 2000 +1  x(x+1)+1
(x=1)(x%+x+1)
RS TS
=x-1
= 1998




16.

a+b+c=4,ab+ bc+ ca =3, abc =12 M, a3 + b3 + 2 9
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@ 30 @31 ® 32 @ 33
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(a+b+c)?=a?+b>+c%+2(ab + bc + ca)

9] Aol @t a? + b2 + ¢* + 6 = 16

L a?+ b+ =10

a®+b3+c3

= (a+b+c)(a®+b?+ c? —ab - bc - ca) + 3abc
=4x(10-3)+3x1
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19. a+b+c=09 W, F2F242+bc} 22 A

@ (a-¢)? @ (b+c)? @ (a+b)(b+c)
@a-ba-c) © (a-b)a+o)

B

2a® 4+ bc =2a* —b(a+b) (v c=-a—-b)
= 2a* — ab - b?

= (a—b)(2a+b)

=(a-b)(a+b+a)

=(a-b)(a-c) (ma+b=—c)




20. Al e A4 a, b, coll Aot [a, b, ¢] = (a-b)(a-c)2t T o,
la, b, c] +[b, ¢, al + [c, a, b] =0°]H [a, b, || Ft-2?

@o @ 1 ® 2 @ 3 ® 4

~&B

(a=b)a-c)+(b-c)(b—a)+ (c—a)(c—b) =0
ZA7Nste] B=sHA a? + b% + ¢ —ab—bc —ca =0
(a=b)?>+(b-c)*+(c-a)*=0

La=b=c

o a, b, cJ=(a=b)(a=c)=0




